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QUESTION 10

Which of the following techniques can you use to improve the performance of calculation views?

There are 2 correct answers to this question.
Response:

* Implement union pruning

* Partition large tables

* Avoid aggregating data early in the data flow
* Minimize layering of calculation views
QUESTION 11

What do we implement to restrict access to specific data rows of acalculation view?
Please choose the correct answer.

Response:

* HANA Database Procedure

* SQL permission

* Authorisation object

* Analytic privilege

QUESTION 12

In SAP HANA Studio, what would you find in a Package?
There are 3 correct answers to this question.
Response:

* Analytic Privileges

* Calculation Views

* Procedures

* Tables

QUESTION 13

What are features of SDA?

There are 2 correct answers to this question.

Response:
* Automatic data type translation
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* Evaluation and execution of push down possibilities to remote sources
* Datacleansing
* Merging data from multiple sources

QUESTION 14
What enables the delta buffer technique to speed up both reads and insertsin SAP HANA?
Please choose the correct answer.

Response:

* Using row-based tables only

* Using both row-based and column-based tables
* Using column-based tables only

* Using only the insert-only technique

QUESTION 15

Why might you use the Keep Flag property in an aggregation node?

* To cache the results of the aggregation node for drill-down

* To ensure that the aggregation behavior defined in the aggregation node for a measure CANNOT be overridden by a query
* Toinclude columns that are NOT requested by a query but are essential for the correct result

* To retain the correct aggregation behavior in stacked views.

QUESTION 16

A columnin your table will be used for text search. Why do you define the column as atext type instead of a string type?
Please choose the correct answer.

Response:

* Toenablealinguistic analysis

* To enable lower memory consumption

* To alow processing of multiple languages

* To enable the full set of SQL operations

QUESTION 17

Y ou& #8217;re creating a currency conversion. What options do you have for the Target Currency field?
There are 3 correct answers to this question.

Response:

* Select atable type.

* Select acolumn.

* Usethe Derived from Table option.

* Use an input parameter.

* Select afixed currency.

QUESTION 18
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What can you determine using the hierarchy function in a calculation view?
There are 3 correct answers to this question.

Response:

* Number of siblings for a hierarchy node

* Distance between root and each hierarchy node
* Source attributes of a composite hierarchy node
* Hierarchy nodes that have no parent

* Timeinterval of hierarchy nodes

QUESTION 19

What SAP HANA feature do you use to host multiple applications for different companiesin single SAP HANA landscape while
ensuring isolation?

Please choose the correct answer.
Response:

* SAP HANA as adistributed database

* Active/Active (read-enabled) mode

* Multitenant Database Containers (MDC)
* Extended storage

QUESTION 20

Y ou&#8217;re given an old government paper form with lines, blocks, and fields. Y ou& #8217;re asked to create a report that [ooks
like this form.

Which business intelligence tools do you use?
Please choose the correct answer.

Response:

* SAP Lumira, discovery edition

* SAP Lumira, designer edition

* SAP Crystal Reports for Enterprise

* SAP BusinessObjects Web Intelligence
QUESTION 21

Y ou want to show a male and female option to end users. What feature do you use?
There are 3 correct answers to this question.
Response:

* Input parameters

* Domain fix values
* Expressions
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* Vauehelp
* Variables

QUESTION 22
Y ou&#8217;re working with a currency measure. What is decimal shift used for?
Please choose the correct answer.

Response:

* For currencies with more than two decimal places

* To avoid rounding errors during the conversion

* To increase the accuracy of the currency conversion
* To undo the decimal adjustment for ABAP

QUESTION 23

Y ou are a data analyst working with medical records that contain confidential patient information. Why do you use the
anonymization node in a calculation view?

Note: There are 2 correct answers to this question.

* Torestrict data access for specific users or roles

* To hideindividual patientsin groups of similar records
* To provide partial value such as #34343#34#+

* To add noise to the data to hide the actual values

QUESTION 24

What spatial data type would you use to store multiple shop locations?
Please choose the correct answer.
Response:

* ST_Polygon

* ST_MultiLineString

* ST_MultiPoint

* ST Point

QUESTION 25

Wheat are the valuesfor X, Y, and Z?
Please choose the correct answer.
Response:

* X = Customer 2, Y = 200, Z =400
* X = Customer 2, Y =400, Z =800

* X =Customer 1, Y =800, Z = 800
* X =Customer 1, Y =400, Z = 400
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QUESTION 26

Using the table in the diagram, you need to create a cube calculation view. What is the simplest approach to create the output form

the screenshot?

Please choose the correct answer.

Table A Output A

Year Vaue 2014 2015 2016

2014 100 300 500 200

2014 200

2015 100

2015 100

2015 200

2015 100

2015 200

Response:

* Create arestricted column for each year

* Create afilter expression that uses an OR operator

* |mplement a union node and map each year as a separate column
QUESTION 27

Y our newly created analytic privilege does NOT want to build. What must you do?
Please choose the correct answer.

Response:

* Assign the ::accessrole to the HDI container user.

* Grantrightstothe SYS REPO user.

* Change the Apply Privileges property of the view.

* Change the analytic privilege to use an SQL Expression.
QUESTION 28

What restrictions apply to a Graph node that you include in a calculation view?
* |t must be the first node in the dataflow.

* |t must be the final node in the dataflow.

* |ts data source must be provided by a projection node.
* |t cannot be included in a calculation view of type dimension.
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QUESTION 29

Which of the following are types of calculation view?

There are 2 correct answers to this question.

Response:

* Composite
* Virtua

* Cube

* Dimension
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